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Parametric equations,
Polar coordinates



For the following exercises, sketch the curves below by
eliminating the parameter t. Give the orientation of the

curve. 'é : Fﬂ Famme do
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For the following exercises, sketch the curves below by
eliminating the parameter t. Give the orientation of the
curve.
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For the following exercises, sketch the parametric 4 }ll 'I'Dl
equations by eliminating the parameter. Indicate any

asymptotes of the graph. P oy GW"‘tf ) 6
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For the following exercises, convert the parametric ()(llj) rg(,-l-qnad(a/' (/Df—C(MGd'fS
equations of a curve into rectangular form. No sketch is
necessary. State the domain of the rectangular form.
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@ 1.5 Find the equation of the tangent line to the curve defined by the equations
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@ 1.6  Calculate the second derivative d” v/ dx? for the plane curve defined by the equations

x(t) = t* — 4t y(t):2t3—6t, -2<t<3 | L|U""u\/
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@ 1.7 Find the area under the curve of the hypocycloid defined by the equations

x(t) =3 cost +cos3t, y(t)=3sint—sin3t, 0<L¢t< 7.

The area under this curve is given by A j f (i) ej)( X= K[ '6-) JX )( ( 6)
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Theorem 1.3: Arc Length of a Parametric Curve

Consider the plane curve defined by the parametric equations

x=x(1), y=y@®), t1<t<t

and assume that x(7) and y(z) are differentiable functions of t. Then the arc length of this curve is given by
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@ 1.8 Find the arc length of the curve defined by the equations

x() =32, y) =27, 1<t<3.
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